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Characteristic points

]_ [7] Relative

W|Bar 1 origin

@]Bar 1 +/- MY u=2 61 [m]
F|Bar 1 +/- MY #=2.51 [m]
|Bar 1 w=E6.15[m|
W]Bar 1 +/- MY %=3 B8 [m]
F|Bar 1 +/- MY #=59.68 [m]
| Bar 1 #=1230[m)
#]|Bar 1 end
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jli_ Dekte || Add |

[ Dpen a new window
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Bar / Point (m) MY (kNm) [ Apply ] [ Close ] [ Help ]
Current value -18153.24 £
for bar: 1

[in point: x00m)
1/ origin -18153.24
1/ point x=0.65 -12798.91
1 point x=1.29 -7992.45
| 11 point x=1.84 “3748.00
1/ point x=2.59 -80.12
|11 point x=3.24 299723
1/ point x=3.88 5469.69 =
1/ point x=4.53 7323.01
1/ point x=5.18 8542.93
11 point x=6.83 5121.80
| 11 point x=6.47 9070.94
| 11 point x=7.12 B404.31
| 11 point x=7.77 T136.28
| 11 point x=8.42 5281.09
1/ point x=09.06 2853.01
| 1/ point x=9.71 -133.72
11 point x=10.36 -3669.21
| 11 point x=11.01 7843.78
11 point x=11.65 -12688.22
1/end -18232 52 L4
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